J VAR T

BHIEAE H H 120224E12H 23 H (&)

Jv K$ 0.5 RN T PR oo K& W BLA—L: 7H¥Lr7 1 2 3 4 5 6
HAYUT 1 2 3 4 5 6
w1k SHRYT AaT vk 7L A 59 AW rS5 1 2 5 7 8 9
fEfa—2x TYVLT HAVT VR TT SN : BrEe6 N 21N AFEE8TA iR 8.0
NEALIR E s AEEHH
[=tiva ZINE K4 THELT| B AY 7| #25| GROSS | HDCP | NET | crossht % & & K4 FTHELT| B AYT | o525 GROSS | HDCP | NET |cRosshisfiz %

1|4 44 44| 9.6 |34.4 15 51|[E4 67 67/27.6 [39.4 87
2\ BRIt B 50 50| 15.6 |34.4 42 52| FEBH 54 54|14.4 [39.6 63
3IRA i 50 50/ 15.6 [34.4 42 53|44 48 48| 8.4 139.6 33
4/N8 BT 37 37| 2.4 |34.6 2 54 [Afi fifi 5L— 47 47| 7.2 |39.8 27
5|IIH Hh 59 59/24.0 [35.0 80 55 |fiE thiR 53 53/ 13.2 39.8 59
6| KA BX 40 40| 4.8 |35.2 5 56 |E 4 47 47| 7.2 139.8 27
TE4 46 46/ 10.8 |35.2 24 57478 Ml 52 52/ 12.0 [40.0 56
8|/ i% G 51 51/15.6 |35.4 48 58|41 MEIE 45 45| 4.8 |40.2 20
9|T. Y 36 36/ 0.0 |36.0 1 59| KK EFE 51 51]10.8 |40.2 48
10|4%)1] 5 54 54/ 18.0 [36.0 63 60| EAT h 57 57| 16.8 |40.2 74
118 e 60 60]/24.0 |36.0 82 61| KFIH J\E T 51 51]10.8 |40.2 48
12| B33 fifih 42 42| 6.0 [36.0 8 62|/A A% £FH 51 51]10.8 |40.2 48
13| K& b 47 47/10.8 |36.2 27 63| K& THH 63 63)22.8 [40.2 85
14 % 0g 4136 53 53| 16.8 |36.2 59 64| R¥x EE 51 51]10.8 |40.2 48
155 & 40 40| 3.6 |36.4 5 65| K IEC 45 45| 4.8 40.2 20
16 KT BLiE 39 39| 2.4 [36.6 3 66 |/NE ST 56 56| 15.6 |40.4 69
17/ 5H AETF 57 57/ 20.4 |36.6 74 67|k B 56 56| 15.6 |40.4 69
18|E4 44 44| 7.2 [36.8 15 68|75 )1 HERE 56 56| 15.6 |40.4 69
19 K¥ &5 44 44| 7.2 |36.8 15 69 |E4 50 50| 9.6 [40.4 42
20 KK E+ 43 43| 6.0 |37.0 12 70| [E4 56 56| 15.6 |40.4 69
21| [FE4 43 43| 6.0 [37.0 12 71 H8)1 AR 50 50/ 9.6 [40.4 42
22 B2 1L # K 48 48/10.8 |37.2 33 72/HIR =5 55 55| 14.4 |40.6 67
23 | ¥ L2 42 42| 4.8 37.2 8 73 el B 49 49| 8.4 |40.6 38
24| B4 A7 47| 9.6 |37.4 27 T4 E4 55 55| 14.4 |40.6 67
25 fEAR fa 47 A7) 9.6 |37.4 27 A BE 42 42| 1.2 40.8 8
26|/NE JIE 47 47| 9.6 |37.4 27 6|E5EH #BEZ 48 48| 7.2 |40.8 33
27| T Skt 40 40| 2.4 [37.6 5 17 E4 58 58/ 16.8 |41.2 79
28| 1LMA & 52 52(14.4 |37.6 56 T8I Ak 45 45| 3.6 |41.4 20
20| [E 4 45 45| 7.2 37.8 20 19| [E4 57 57/ 15.6 |41.4 74
30|E4 51 51[13.2 [37.8 48 80|51 ==l 57 57/ 15.6 |41.4 74
31 B[ =1 39 39| 1.2 |37.8 3 81| AT 49 49| 7.2 |41.8 38
32 |BA[ES SRR T 49 49]10.8 |38.2 38 82|REL 18 54 54/12.0 [42.0 63
33 |[E 4 61 61/22.8 [38.2 83 83| Wb ==k 57 57| 14.4 [42.6 74
34|E4 49 49/10.8 |38.2 38 84| =t T 59 59|15.6 |43.4 80
3514 [EE 42 42| 3.6 |38.4 8 85|/ i 53 53| 8.4 |44.6 59
36 R B 48 48| 9.6 |38.4 33 86|[E4 52 52| 7.2 |44.8 56
UES IR 54 54| 15.6 |38.4 63 87|[E4 61 61| 14.4 |46.6 83
38| iH AR 48 48| 9.6 |38.4 33
39 A AEF 53 53/ 14.4 [38.6 59
40 |E4 46 46| 7.2 [38.8 24
41| HEH E= 46 46| 7.2 |38.8 24
412|E4 64 64| 25.2 |38.8 86
43 |4, 51 51(12.0 |39.0 48
44| B4, 51 51(12.0 |39.0 48
45| B BT 50 50| 10.8 |39.2 42
46 58 BH 56 56| 16.8 |39.2 69
471 =3 44 44| 4.8 [39.2 15
48 |TGE FEE 50 50(10.8 |39.2 42
49| [ 4, 44 44| 4.8 [39.2 15
50 | B ] 43 43| 3.6 |39.4 12

1/ 1 AV LEYDF3FJLGC WEST




